BAsEIES N H AR FHERSE HEHX T

2 A:209%9878(1)»50BM (FXIEE) AR 3HA/H 9:00 11:30 14:00
5 o BT RS 2x#4&/8 10:00 12:30
I & AAHEERERSGHXER. SEHE 1#&/8 10:00
ASE - —f& 1,000 JABARE 500M SiRELT &y
RKED RED RKEQ
1] X
8=1 6-2 9-1
= oy N F 8-1 8-2
3-1 3-2 4-1 4-2
7-1 7-2
A (] 7N =
-4 1-2 2-1 92-2
4-3 B=1 5-2 5-3
@® @ @ @ ©® ® @ ® ® O @ @ = 4 B K o~ s~ = b F
[ ] Eﬁiz 7T J Y =EKYy K
2 ¥ 0
= - 21 1 = % .
B ER & 9 R 7E; ;
I =n & o8, <
ZE S | ¥ Y= 1%
+ R b 5 T i :f'
E 7+ . 4 7
A EB®8Wox 1 B ; I A AN | ¢

WETFIIIABARERRI RS, 37 HEIEIJABARB KESEHIC L 0 HIBEL S TV DD T B,
MAZ == bF—2E, DDELLPEY— P15,




